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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate. »

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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General Instructions :

i)
(ii)
(i)
(v
v
v

(vii)
(viii)

All questions in both the sections are compulsory.

Marks for questions are indicated against each.

Question Nos. 1-5 and 17-21 are very short-answer questions carrying
I mark each. They are required to be answered in one sentence each.
Question Nos. 6-10 and 22-26 are short-answer questions carrying
3 marks each. Answer to them should not normally exceed 60 words each.
Question Nos. 11-13 and 27-29 are also short-answer questions carrying
4 marks each. Answer to them should not normally exceed 70 words each,
Question Nos. 14-16 and 30-32 are long-answer questions carrying
6 marks each. Answer to them should not normally exceed 100 words
each.

Questions marked star (*) are value based questions.

Answer should be brief and to the point and the above word limit should
be adhered to as far as possible.
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Section A
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Unemployment is reduced due to the measures taken by the government. State its
economic value in the context of production possibilities frontier.

Is1e we it gftumsT i |
Define budget set.

SR srefamre # TEfd (St & =y s R ?

What is meant by revenue in microeconomics ?

T R % fawel 1 379 FaE |

Give meaning of ‘returns to a factor.’
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5, e & A 1 & 1
What is perfect oligopoly ?

6. ‘WWWWW'WWW\ 3

Explain the central problem “for whom 10 produce.’

7. e ST 93.?&{%@«@?@@?& 183@3!!'7@%%13@@ Sy i

G ()] &1 ST 103.%%@«@@%3@@'%?%
it | 3

A consumer buys 18 units of a good at 2 price of Rs. 9 per unit. The price

elasticity of demand for the good is (-)1. How many units the consumer will buy

at a price of Rs. 10 per unit ? Calculate.

8. ﬁnﬁwﬁﬂ(m)aﬂuﬁmwﬁ(m)%aﬂammt -3
Frerat "
Wwaﬂ‘{?ﬁﬂiﬁm%aﬁ’n’ﬁéﬂml

State the relation between marginal revenuc and average revenue.
Or
Y
State the relation between total cost and marginal cost. o oo

9. éﬁ—%ﬁaﬂmﬁqﬁaﬁm%,m&nmmwmﬁm%?ﬁmaﬁ
A ? 3

What is the behaviour of average fixed cost as output 18 increased ? Why is itso?

10. @mﬁmﬂmﬁﬁﬁwﬁﬁwﬁmw%?mt 3

Why are the firms said to be interdependent in an oligopoly market ? Explain.

11. @mﬁmmaaﬁaﬁwmﬁﬂm%m@ﬁmﬁwaﬁmﬁ
-mﬁw:igaﬂaﬁan@nmi 4

Ul
@mﬁm‘maa@ﬁ AaﬁiBaﬁrwﬁnm% aﬂtﬁgﬂﬁﬁ%lmﬁ
ﬁa@Bﬁﬁﬂﬂﬁﬂ?ﬁ%ﬁaﬁBﬁmm% 13@1?13!%5?@01&@:1?“%
=0 W 1 IW A |
A consumer consumes only two goods. Explain consumer’s equilibrium with the
help of utility analysis.
Or
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A consumer consumes only two goods A and B and is in equilibrium. Show that
when price of good B falls, demand for B rises. Answer this question with the
help of utility analysis.

12. a@ﬁnﬁmmmﬁmﬁvﬁaﬁqmwumm%?wmf

What happens to the demand of a good when consumer’s income changes ?
Explain.

13. Wm%m%mmmmwwfww%m

State the behaviour of marginal product in the law of variable proportions,
Explain the causes of this behaviour.

14. mwwﬁmama@mﬁﬁmu
e

mﬁmqaﬁaﬁ?ﬁqﬁﬂqﬁmn

Explain the conditions of consumer’s equilibrium with the help of the indifference
curve analysis.

Or
Explain the three properties of the indifference curves.

15. @W%aﬁﬁﬁw%%aa@mﬁ,mmaﬂtmm(wm)%mw

IeqTE T TEIfd (31 T AR
(3T%) (%.) (%.)

I 7 8

2 14 15

3 21 21

4 28 28

5 35 36 j

From the following information about a firm, find the firms equilibrium output in
terms of marginal cost and marginal revenue. Give reasons. Also find profit at this
output.
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16.

Note :

V7.

18.

19.

20.
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Output Total Revenue Total Cost
(units) (Rs.) (Rs.)

1 7 8

2 14 15

3 21 21

4 28 28

5 35 36

Qiﬁa!ﬁmwégmﬁéla@aﬁﬁnﬁ“qi*a”ﬁam%lwésmﬁ‘gm
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Market of a commodity is in equilibrium. Demand for the commodity “increases.”
Explain the chain of effects of this change till the market again reaches
equilibrium. Use diagram.
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The following question is for the Blind Candidates only in lieu of
Q. No. 16.

Market of a commodity is in equilibrium. Demand for the commodity “increases.”
Explain the chain of effects of this change till the market reaches equilibrium
again. Compare the prices at the old and new equilibrium.

RCLE:

Section B
i STEneTt § e st & 7
What are demand deposits ?
A FUSTRY 7 & 7
What is involuntary unemployment ?
Hwrd 3grT yaft ol G|
Define marginal propensity to consume.
LR arste i uftam i |

Define government budget.

) [BRO.
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Give meaning of balance of trade.

22, STRI FTOT (mm)ﬁmmlmmmﬁwmmwmaﬁq [
SHRT T G T YU el & 7
Define externalities. Give an example of negative externality. What is its impact
on welfare ?
23. 4% ‘r@q—m’mmmw!
HYAT
LB ot o1 e’ w5t = vee wEm
Explain the significance of ‘store of value’ function of money.
Or
Explain the significance of ‘medium of exchange’ function of money.
24. mﬁm%mﬁﬁwﬁﬁf@amm%m{sﬁmm ? IO S7qTEy |
(i) IS FA WE e =y |
(i) IR Ele WA a2 |
Is the following revenue expenditure or capital expenditure in the context of
government budget ? Give reason.

(1) Expenditure on collection of taxes.
(i)  Expenditure on purchasing computers.

25. YA Hge = i 31 e |

Explain the meaning of balance of payments deficit.

26. mﬁﬁww#aﬁmmmmmﬁmmﬁéﬁﬁﬁﬁwam
ERIEEIERECE R b oo Rt

Recently Government of India has doubled the import duty on gold. What impact
is it likely to have on foreign exchange rate and how ?

27. @mﬁmwmmmwl
HYGT
sl ek &1 “siftrm sworerer’ I |
Define money supply and explain its components.

Or )
Explain the ‘lender of last resort’ function of central bank.

28. @aéwm,ﬁ%ﬁ@qﬁ%,%a&ﬁﬁw%ﬁmmﬁﬁ%mmwm
Fifsa
TR 31 = 1000
HAT= s d 99y = 0,25
(¥amert) warera 3usin =5 = 20
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Calculate investment expenditure from the following data

which is in equilibrium
National income = 1000

Marginal propensity t0 save = 0.25

Autonomous consumption expenditure = 200

%29, Wgﬁaﬁﬂaa@aﬁ%wmmm

zgar 2 ¢ gHese

Government raises its expenditure on producing public goods.

value does it reflect ? Explain.

30. Affiaa & TEA 3T 7 T TEE T 77 T AT i
(7 %.)

i) ﬁ%ﬁ@ﬁﬁﬁsﬁmmﬂ ()15
Gy T Sifer eI = 600
(iif) yfeien EEEdl 20
(v) O ifer IO 100
(v)  IEE 120
(vi) T 20
(vii) e.ﬁ'act;ﬁmwﬁﬂ 35
(viii) T # g i ()10
(ix) At o e e 5

about an cconomy

a@%ﬂ%\aﬁﬁamﬁ%uﬁﬁ

Which economic

(x) e Ty gSf fmor 110 4+2=6

Calculate national income and gross national disposable income from the

following :

(Rs. Arab)
(1) Net current transfers to abroad ()15
()  Private final consumption expenditure 600
(i) Subsidies 20
(iv) Government final consumption expenditure 100
(v) Indirect tax 120
(vi)  Net imports 20
(vi1) Consumption of fixed capital 35
(viii) Net change in stocks ()10
(ix) Net factor income to abroad 5
(x)  Net domestic capital formation 110
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31.

32,

Note :
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(ii) é’mﬁ%wmwqumwﬁamﬁmwmm M |

(iii) mﬁmmm%mwaﬁaﬁmml

Giving reason explain how should the following be treated in estimating gross
domestic product at market price ?

(1) Fees to a mechanic paid by a firm.

(i)  Interest paid by an individual on a car loan taken from a bank.
(iii)  Expenditure on purchasing a car for use by a firm.

mﬁﬁmﬁﬁmﬁ@amm@mlmﬁawm
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Explain national income equilibrium through aggregate demand and aggregate
supply. Use diagram. Also explain the changes that take place in an economy
when the economy is not in equilibrium.

Or
Outline the steps required to be taken in deriving saving curve from the given
consumption curve. Use diagram.
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The following question is for the Blind Candidates only in lieu of
Q. No. 32.
Define aggregate demand. Explain national income equilibrium through aggregate
demand and aggregate supply. Also explain the changes that take place in an
economy when the economy is not in equilibrium.

Or
What is saving function ? How it is derived from the consumption function ?
Explain.
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